

Prevalent genotypes of methylenetetrahydrofolate reductase (MTHFR C677T and A1298C) in spontaneously aborted embryos

Jeehyeon Bae, Ph.D.,^{a,b} Seung Joo Shin, M.D., Ph.D.,^c Sun Hee Cha, M.D., Ph.D.,^c
Dong Hee Choi, M.D., Ph.D.,^c Suman Lee, Ph.D.,^b and Nam Keun Kim, Ph.D.^a

^aInstitute for Clinical Research, Bundang CHA General Hospital, College of Medicine; ^bCHA Research Institute and Graduate School of Life Sciences and Biotechnology, Pochon CHA University; and ^cDepartment of Gynecology and Obstetrics, Bundang CHA General Hospital, College of Medicine, Seongnam, South Korea

Objective: To assess prevalent 5,10-methylenetetrahydrofolate reductase (MTHFR) polymorphisms in spontaneously aborted embryos.

Design: A retrospectively analyzed, prospectively obtained database.

Setting: Bundang CHA General Hospital and Kangnam CHA Hospital.

Patient(s): Ninety-four spontaneously aborted embryos at <20 weeks of gestational age.

Intervention(s): None.

Main Outcome Measure: Genotype frequency of MTHFR C677T and A1298C polymorphisms in spontaneously aborted embryos.

Result(s): The aborted embryos exhibited both a significantly high frequency of the MTHFR 677CC genotype and a low frequency of the MTHFR 677CT genotype, compared to both the child and the adult control groups, respectively, whereas no significant change in the fetal MTHFR A1298C genotype frequency was observed. The combinative genotype of MTHFR 677CC/1298AC from the abortus had a high prevalence compared to the child controls. Further, the chromosomal integrity of the abortus did not affect the frequency of the MTHFR 677CC and 1298AC genotypes.

Conclusion: Spontaneously aborted embryos have a unique distribution of MTHFR C677T and A1298C polymorphisms, regardless of their chromosomal integrity. (Fertil Steril® 2007;87:351–5. ©2007 by American Society for Reproductive Medicine.)

Key Words: Methylenetetrahydrofolate reductase (MTHFR), spontaneously aborted embryo, abortion, SNP, polymorphism

Approximately 20% of recognized pregnancies end in spontaneous abortions; the genetic etiologies of these are largely unknown (1). The association of high blood homocysteine in women with recurrent spontaneous abortions was previously demonstrated (2, 3). The 5,10-methylenetetrahydrofolate reductase (MTHFR) converts 5,10-methylenetetrahydrofolate into 5-methyltetrahydrofolate, the prevalent form of circulating folate that provides the methyl group to homocysteine for the synthesis of methionine. The 5,10-methylenetetrahydrofolate reductase C677T, in which valine is substituted for alanine, and MTHFR A1298C, in which alanine is substituted for glutamate, showed a 20%–30% reduction in their enzyme activities (4). This reduction decreases the conversion of homocysteine into methionine, resulting in homocysteine accumulation in the circulation.

In addition, methionine is the precursor of *S*-adenosylmethionine (SAM), the methyl group donor for the methylation of DNA, protein, and lipid. Consequently, the perturbation of methionine synthesis also affects subsequent methylation of other acceptors. It was reported that the elevation of homocysteine in the blood increases the risk of recurrent spontaneous abortions as well as of neural tube defects and placental abruption (5–8). However, many others failed to find any significant associations between maternal MTHFR C677T polymorphism and spontaneous abortions.

The 677C→T mutation is common in different populations, with reported homozygote frequencies of 5%–28% of worldwide populations (9, 10). The homozygous state for the 1298A→C transition was observed in approximately 10% of Dutch and Canadian subjects (11, 12). Recent studies reported higher incidences of MTHFR mutations in aborted embryos or fetuses based on Western populations (13, 14). Therefore, we analyzed MTHFR polymorphisms from 94 spontaneously aborted embryos to investigate the association between MTHFR mutations and fetal viability.

Received January 12, 2006; revised and accepted June 13, 2006.

Supported by a grant (KRF-2005-041-E00360) of the Korea Research Foundation of the Government of Korea (MOEHRD).

Reprint requests: Nam Keun Kim, Ph.D., Institute for Clinical Research, Bundang CHA General Hospital, College of Medicine, Pochon CHA University, 351 Yatap-dong, Bundang-gu, Seongnam 463-712, South Korea (FAX: 82-31-780-5766; E-mail: nkkim@cha.ac.kr).

MATERIALS AND METHODS

Subjects

Ninety-four spontaneously aborted embryos at <20 weeks of gestational age were obtained from the Infertility Medical Center at Bundang CHA General Hospital, Seongnam, South Korea, from June 1999 to February 2002. Controls were 100 (age range, 1–15 years) and 449 (age range, 21–86 years) normal hospital-based children and adults, respectively, collected from a sample of convenience. The institutional review board of Bundang CHA General Hospital approved the study in May 1999, and all subjects gave written informed consent.

MTHFR Genotyping

DNA was extracted from an aliquot of fetal tissues, and leukocytes were isolated from the blood of controls using a DNA extraction kit (QIAmp blood kit, Qiagen, Valencia, CA). The C677T mutation was analyzed by polymerase chain reaction (PCR) of genomic DNA, with the use of the following primer pairs: 5'-TGA AGG AGA AGG TGT CTG CGG GA-3' (forward primer) and 5'-AGG ACG GTG CGG TGA GAG TC-3' (reverse primer). These primers generate a 198-base pair (bp) fragment following PCR. A1298C mutation was analyzed by PCR with the following primers: 5'-GGG AGG AGC TGA CCA GTG CAG-3' (forward primer) and 5'-GGG GTC AGG CCA GGG GCA G-3' (reverse primer). The PCR reaction produces a 141-bp fragment. MTHFR C677T and A1298C genotypes were identified with restriction fragment length polymorphism (RFLP) analysis, as described previously (10).

Cytogenetic Analysis

To determine any association of spontaneously aborted embryos with their chromosomal abnormality, cells from the aborted fetal tissues were cultured for testing chromosomal abnormalities by the method of Evans et al. (15).

Statistical Analysis

Associations of MTHFR C677T, A1298C, or a combination of both between abortus and a normal population were analyzed by ANOVA with the use of SAS 8.2 for Windows (SAS, Inc., Cary, NC).

RESULTS

The distribution of MTHFR C677T and A1298C polymorphisms of abortus and controls is presented in Table 1. The frequencies of MTHFR C677T genotypes for normal homozygotes (677CC), heterozygotes (677CT), and variant homozygotes (677TT) of abortus was 40.4%, 41.4%, and 18.1%, respectively, whereas the child and adult groups showed 24.0%, 55.0%, and 21.0%, and 32.3%, 53.2%, and 14.5%, respectively. Spontaneously aborted embryos exhibited both a significantly higher frequency for the MTHFR 677CC genotype (odds ratio [OR], 2.149; 95% confidence

interval [CI], 1.164–3.982; $P=.022$) and a lower frequency for the MTHFR 677CT genotype ($P=.071$) as compared to the child control group. In comparison with the adult controls, the MTHFR 677CT genotype was also significantly lower in the abortus (OR, 0.612; 95% CI, 0.392–0.957; $P=.041$). Additionally, the MTHFR 677TT genotype did not show any significant frequency difference with either of the control groups from the Korean population.

The fetal MTHFR A1298C genotype frequencies were 67.0%, 29.8%, and 3.2% for normal homozygotes (1298AA), heterozygotes (1298AC), and variant homozygotes (1298CC), respectively (Table 1). The distribution of the MTHFR A1298C polymorphism for the child and adult control groups were 77.0% and 69.5% for normal homozygotes, 21.0% and 28.7% for heterozygotes, and 2.0% and 1.8% for variant homozygotes, respectively. Thus, the genotypes of MTHFR A1298C exhibited no significant differences between the spontaneously aborted embryos and the controls.

The frequency of the combined genotypes of MTHFR C677T and A1298C in spontaneously aborted embryos and controls is given in Table 1. We did not find any combined genotype of MTHFR 677CT/1298CC, 677TT/1298AC, or 677TT/1298CC from either the aborted embryos or the controls. The frequency of the combined 677CC/1298AC genotype in the aborted embryos, and the child and adult controls, were 19.1%, 8.0%, and 11.6%, respectively, demonstrating a significantly higher frequency of the combined genotype in the aborted embryo group than in the child controls (OR, 2.724; 95% CI, 1.143–6.469; $P=.039$). In addition, the aborted embryos also presented a higher prevalence of the combined MTHFR 677CC/1298AC genotype in comparison with the adult control group, although this did not reach statistical significance ($P=.068$).

The spontaneously aborted embryo group consisted of an equal number of males and females, and among them 57 (60.6%), 25 (26.6%), and 12 (12.8%) subjects had a normal chromosomal structure or number, an abnormal chromosomal structure or number, and unclassified chromosomes, respectively (Table 2). The distribution of the MTHFR 677CC and 1298AC genotypes between normal and abnormal chromosome groups of the spontaneously aborted embryos was not significantly different, as shown in Table 2, and the combined MTHFR C677T and A1298C genotypes did not significantly affect the prevalence of allele distribution (data not shown).

DISCUSSION

The present study demonstrates that spontaneously aborted embryos exhibit both a significantly higher frequency of the MTHFR 677CC genotype and a lower frequency of the 677CT genotype as compared to controls. These results are of interest, because others found no significant change in frequency of the fetal MTHFR 677CC and 677CT genotypes

TABLE 1**Individual MTHFR genotype distributions for spontaneously aborted embryos and control groups.**

Genotype	Abortus (n = 94) (%)	Controls (n = 549)		Child control-based		Adult control-based	
		Child (n = 100) (%)	Adult (n = 449) (%)	Odds ratio (95% CI)	<i>P</i> ^a	Odds ratio (95% CI)	<i>P</i> ^a
MTHFR C677T							
CC	38 (40.4)	24 (24.0)	145 (32.3)	2.149 (1.164–3.967)	0.022	1.423 (0.903–2.247)	0.163
CT	39 (41.4)	55 (55.0)	239 (53.2)	0.570 (0.324–1.003)	0.071	0.612 (0.392–0.957)	0.041
TT	17 (18.1)	21 (21.0)	65 (14.5)	0.831 (0.411–1.680)	0.741	1.304 (0.730–2.334)	0.465
C allele	0.612	0.515	0.590				
T allele	0.388	0.485	0.410				
MTHFR A1298C							
AA	63 (67.0)	77 (77.0)	312 (69.5)	0.607 (0.320–1.139)	0.165	0.892 (0.557–1.430)	0.728
AC	28 (29.8)	21 (21.0)	129 (28.7)	1.596 (0.834–3.051)	0.214	1.052 (0.649–1.708)	0.936
CC	3 (3.2)	2 (2.0)	8 (1.8)	1.615 (0.315–8.263)	0.944	2.329 (0.656–8.317)	0.409
A allele	0.819	0.875	0.840				
C allele	0.181	0.125	0.160				
MTHFR C677T/A1298C							
CC/AA	17 (18.1)	14 (14.0)	85 (18.9)	1.356 (0.634–2.899)	0.562	0.945 (0.535–1.673)	0.964
CC/AC	18 (19.1)	8 (8.0)	52 (11.6)	2.724 (1.143–6.469)	0.039	1.808 (1.009–3.243)	0.068
CC/CC	3 (3.2)	2 (2.0)	8 (1.8)	1.815 (0.353–9.297)	0.843	1.817 (0.514–6.456)	0.631
CT/AA	28 (29.8)	42 (42.0)	162 (36.1)	0.586 (0.324–1.058)	0.105	0.752 (0.466–1.214)	0.296
CT/AC	11 (11.7)	13 (13.0)	77 (17.2)	0.887 (0.383–2.055)	0.955	0.640 (0.330–1.245)	0.250
TT/AA	17 (18.1)	21 (21.0)	65 (14.5)	0.864 (0.427–1.751)	0.864	1.304 (0.730–2.334)	0.465

^a By Fisher's exact test.

Bae. Prevalent MTHFR genotypes in abortus. Fertil Steril 2007.

compared with neonatal or unclassified controls (13, 14). In addition, the MTHFR 677TT genotype frequency was similar between the abortus and the controls, whereas Zetterberg et al. (14) detected a higher proportion of aborted embryos with

the 677TT and 1298AC genotypes compared to their control group. Furthermore, we did not observe the rare MTHFR genotype combinations (677CT/1298CC and 677TT/1298CC) detected by Isotalo et al. in aborted embryos (13).

TABLE 2**Comparison of MTHFR genotype distributions between normal and abnormal chromosome groups from spontaneously aborted embryos.**

Genotype	Normal chromosome (n = 57) (%)	Abnormal chromosome (n = 25) (%)	Odds ratio (95% CI)	<i>P</i> ^a
C677T				
CC	26 (45.6)	9 (36.0)	2.423 (0.977–5.985)	0.091
CT	19 (33.3)	13 (52.0)	0.462 (0.179–1.188)	0.177
TT	12 (21.1)	3 (12.0)	1.956 (0.530–7.076)	0.505
A1298C				
AA	40 (70.2)	14 (56.0)	1.849 (0.710–4.830)	0.316
AC	15 (26.3)	10 (40.0)	0.536 (0.201–1.423)	0.328
CC	2 (3.5)	1 (4.0)	0.873 (0.108–6.935)	1.000

^a By Fisher's exact test.

Bae. Prevalent MTHFR genotypes in abortus. Fertil Steril 2007.

Therefore, spontaneously aborted embryos in the Korean study group exhibited a different prevalence of the MTHFR genotype distribution than in other populations. This discrepancy may be partly due to a different MTHFR genotype distribution pattern between different races (10). It could also be the result of a possible increase of DNA hypermethylation (16) in the abortus with the 677CC genotype, suggesting that an elevated methionine level may have more of an impact on embryo survival than hyperhomocysteinemia. This notion may also be supported by the lack of increase in the MTHFR 677CT and 677TT genotypes in the aborted embryos in our study. However, we cannot exclude the possibility that a certain portion of embryos retaining either the 677CT or 677TT genotype may die at a very early stage of conception. In addition, an involvement of the MTHFR genotypes with other factors cannot be ruled out.

We employed two different (child and adult) control groups for our analysis. Both control groups exhibited an allele frequency similar to that in another Korean study (10), and consisted of the highest prevalence for the heterozygote (677CT) and a lower prevalence for the normal homozygote (677CC), which is a distinct finding compared to other populations. According to a study of the worldwide distribution of MTHFR mutations, most populations, including Europe, Africa, the Middle East, Asia, America, and Australia, exhibit the highest frequency of the normal homozygote (677CC), except for Mongolians and Brazilian Amerindians, whose prevalent MTHFR genotype is the heterozygote (677CT) (9), as in the Korean population. The distribution of the MTHFR A1298C polymorphism in our subjects was also in agreement with the Korean population described earlier (17). The slight difference in MTHFR genotype distribution between the child and adult controls may reflect the age-specific susceptibility of individuals containing certain types of MTHFR alleles to diseases (18). Furthermore, we demonstrated that at least 27% of the spontaneously aborted embryos had abnormal chromosome structures, but that the frequency of the MTHFR 677CC and 1298AC genotypes is not related to chromosomal integrity in the abortus.

The genotype distribution of the MTHFR A1298C polymorphism alone exhibited no significant differences between the spontaneously aborted embryos and controls, which is consistent with a previous study by Isotalo et al. (13). Another study, however, found a significantly higher frequency of 1298AC heterozygotes and a lower frequency of 1298AA homozygotes from embryos (14). The inconsistency among studies may result from different criteria for heterogeneous samples, including types of abortion, race, and selection of a control population (19).

The frequency of the combined MTHFR 677CC/1298AC genotype was higher in the aborted embryo group than the controls. Zetterberg et al. (14) also found a significant association of the presence of the same genotype combination from a spontaneous abortion group.

These observations suggest that there was a significantly higher frequency of the MTHFR 677CC genotype and the combined MTHFR 677 CC/1298AC genotype in the spontaneously aborted embryos. However, we do not have a clear explanation as to why the MTHFR 1298AC genotype, in particular, has an association with 677CC from abortus at this point.

We and others have not found any combinative genotype of MTHFR 677CT/1298CC, 677TT/1298AC, or 677TT/1298CC from both the abortus and controls (14), although 677CT/1298CC and 677TT/1298CC combinations were detected in aborted embryos by Isotalo et al. (13). Nonetheless, these combinations of genotypes have not been reported in living humans to our knowledge. Therefore, the MTHFR gene, especially with some combinations of the C677T and A1298C alleles, may have a severe deteriorative effect on the fetus; thus the embryo is unable to survive, which suggests the pivotal role of the MTHFR gene in human development. However, a more thorough analysis of the MTHFR polymorphism, based on embryos at a very early stage, should be conducted before a final conclusion is drawn.

In summary, our findings demonstrated a unique distribution for the MTHFR C677T and A1298C polymorphisms in both spontaneously aborted embryos and control groups from the Korean population. In particular, a high prevalence of the MTHFR 677CC genotype in the aborted embryos was striking. Further studies would be valuable in elucidating the causes of this phenomenon.

REFERENCES

1. Wilcox AJ, Weinberg CR, O'Connor JF, Baird DD, Schlatterer JP, Canfield RE, et al. Incidence of early loss of pregnancy. *N Engl J Med* 1988;319:189-94.
2. Nelen WL, Blom HJ, Steegers EA, den Heijer M, Thomas CM, Eskes TK. Homocysteine and folate levels as risk factors for recurrent early pregnancy loss. *Obstet Gynecol* 2000;95:519-24.
3. Wouters MG, Boers GH, Blom HJ, Trijbels FJ, Thomas CM, Borm GF, et al. Hyperhomocysteinemia: a risk factor in women with unexplained recurrent early pregnancy loss. *Fertil Steril* 1993;60:820-5.
4. Chango A, Boisson F, Barbe F, Quilliot D, Drosch S, Pfister M, et al. The effect of 677C→T and 1298A→C mutations on plasma homocysteine and 5, 10-methylenetetrahydrofolate reductase activity in healthy subjects. *Br J Nutr* 2000;83:593-6.
5. Unfried G, Griesmacher A, Weismuller W, Nagele F, Huber JC, Tempfer CB. The C677T polymorphism of the methylenetetrahydrofolate reductase gene and idiopathic recurrent miscarriage. *Obstet Gynecol* 2002;99:614-9.
6. van der Put NM, Steegers-Theunissen RP, Frosst P, Trijbels FJ, Eskes TK, van den Heuvel LP, et al. Mutated methylenetetrahydrofolate reductase as a risk factor for spina bifida. *Lancet* 1995;346:1070-1.
7. Gebhardt GS, Scholtz CL, Hillermann R, Odendaal HJ. Combined heterozygosity for methylenetetrahydrofolate reductase (MTHFR) mutations C677T and A1298C is associated with abruptio placentae but not with intrauterine growth restriction. *Eur J Obstet Gynecol Reprod Biol* 2001;97:174-7.
8. Kim NK, Choi YK, Kang MS, Choi DH, Cha SH, An MO, et al. Influence of combined methylenetetrahydrofolate reductase (MTHFR) and thymidylate synthase enhancer region (TSER) polymorphisms to

- plasma homocysteine levels in Korean patients with recurrent spontaneous abortion. *Thromb Res* 2006;117:653–8.
9. Schneider JA, Rees DC, Liu YT, Clegg JB. Worldwide distribution of a common methylene-tetrahydrofolate reductase mutation. *Am J Hum Genet* 1998;62:1258–60.
 10. Kim NK, Kang GD, Kim HJ, Kim SH, Nam YS, Lee S, et al. Genetic polymorphisms of 5,10-methylenetetrahydrofolate reductase (MTHFR C677T and A1298C) in healthy Koreans. *Korean J Genet* 2002;24:227–34.
 11. van der Put NM, Gabreels F, Stevens EM, Smeitink JA, Trijbels FJ, Eskes TK, et al. A second common mutation in the methylenetetrahydrofolate reductase gene: an additional risk factor for neural-tube defects? *Am J Hum Genet* 1998;62:1044–51.
 12. Weisberg I, Tran P, Christensen B, Sibani S, Rozen R. A second genetic polymorphism in methylenetetrahydrofolate reductase (MTHFR) associated with decreased enzyme activity. *Mol Genet Metab* 1998;64: 511–2.
 13. Isotalo PA, Wells GA, Donnelly JG. Neonatal and fetal methylenetetrahydrofolate reductase genetic polymorphisms: an examination of C677T and A1298C mutations. *Am J Hum Genet* 2000;67: 986–90.
 14. Zetterberg H, Regland B, Palmer M, Ricksten A, Palmqvist L, Rymo L, et al. Increased frequency of combined methylenetetrahydrofolate reductase C677T and A1298C mutated alleles in spontaneously aborted embryos. *Eur J Hum Genet* 2002;10:113–8.
 15. Evans EP, Breckon G, Ford CE. An air-drying method for meiotic preparations from mammalian testes. *Cytogenetics* 1964;3:289–94.
 16. Kang S, Kim JW, Kang GH, Park NH, Song YS, Kang SB, et al. Polymorphism in folate- and methionine-metabolizing enzyme and aberrant CpG island hypermethylation in uterine cervical cancer. *Gynecol Oncol* 2005;96:173–80.
 17. Kim JK, Kim S, Han JH, Kim HJ, Chong SY, Hong SP, et al. Polymorphisms of 5,10-methylenetetrahydrofolate reductase and risk of stomach cancer in a Korean population. *Anticancer Res* 2005;25:2249–52.
 18. Cronin S, Furie KL, Kelly PJ. Dose-related association of MTHFR 677T allele with risk of ischemic stroke: evidence from a cumulative meta-analysis. *Stroke* 2005;36:1581–7.
 19. Zetterberg H. Methylenetetrahydrofolate reductase and transcobalamin genetic polymorphisms in human spontaneous abortion: biological and clinical implications. *Reprod Biol Endocrinol* 2004;2:7.